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��'RNXPHQ � ������� 3HODNVDQDDQ ���3URVHV�YHULcNDVL
GRNXPHQ�XVXODQ�GDQ�HQWU\
NH�6,$61����&HWDN�'3&3
SHQHULPD�SHQVLXQ����
8VXODQ�3HUWHN�NH�%.1����
8VXO�77(�6.�NH�%XSDWL
VHWHODK�PHQGDSDW�3HUWHN
GDUL�%.1�����'LVWULEXVL�6.
\DQJ�VXGDK�77(�3HQVLXQ
%83��0HQLQJJDO�'XQLD�
3HPEHUKHQWLDQ�NDUHQD
WLQGDN�SLGDQD

������

3HODNVDQDDQ�WHUNHQGDOD�EDWDV
NHZHQDQJDQ

�����������������
)DVLOLWDVL�OHPEDJD�SURIHVL�$61 5S������������ 5S������������ ��

�� ��������������������
-XPODK�/HPEDJD�3URIHVL�$61
\DQJ�'LIDVLOLWDVL

��/HPEDJD � ������� 6HOHVDL WHUODNVDQDQ\D�OD\DQDQ
IDVLOLWDVL�OHPEDJD�SURIHVL
$61

����� 3HQHULPD�PDQIDDW
EHUWDPEDK�EHUNXUDQJ

�����������������
3HQJHORODDQ�6LVWHP�,QIRUPDVL
.HSHJDZDLDQ

5S������������ 5S������������ ��
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�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HQJHORODDQ�6LVWHP�,QIRUPDVL
.HSHJDZDLDQ

��'RNXPHQ � ������� 6HOHVDL XQWXN�NHJLDWDQ�SHODNVDQDQ
SHQJHORODDQ�VLWHP�LQIRUPDVL
NHSHJDZDLDQ�WHUODNVDQD
GHQJDQ�EDLN�QDPXQ�XQWXN
SHODNVDQDDQ�6HZD�+RVWLQJ
XQWXN�6,03(*WLGDN
WHUODNVDQD

�����
3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD�:DNWX�SHODNVDQDDQ
NXUDQJ�ZDNWX�SHODNVDQDDQ�WLGDN
VHVXDL�UHQFDQD

�����������������
3HQJHORODDQ�GDWD�.HSHJDZDLDQ 5S������������ 5S����������� ��

�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HQJHORODDQ�'DWD�.HSHJDZDLDQ

��'RNXPHQ � ������� 6HOHVDL WHUVLVD�GLVSDULWDV�GDWD
VHEDQ\DN�����RUDQUJ\DQJ
WHUGLUL�GDUL���EHOXP�VNS�WK
VHEHOXPQ\D��EXS�PDVLK
DNWLI��FSQV�OHELK��WK��GSN
GSE�MHQLV�SHJDZDL�WLGDN
VHVXDL��QLN�EHOXP�YDOLG�SQV
WPWSQV�NRVRQJ�VWUXNWXUDO
JDQGD�XQRU�QRQDNWLI

�����

3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD�/RNDVL�SHODNVDQDDQ
EHUEHGD�GJ�UHQFDQD�ZDNWX
SHODNVDQDDQ�WLGDN�VHVXDL�UHQFDQD

�����������������
(YDOXDVL�'DWD��,QIRUPDVL�GDQ�6LVWHP
,QIRUPDVL�.HSHJDZDLDQ

5S������������ 5S����������� ��

�� ��������������������
-XPODK�/DSRUDQ�+DVLO�(YDOXDVL
'DWD��,QIRUPDVL�GDQ�6LVWHP
,QIRUPDVL�.HSHJDZDLDQ

��/DSRUDQ � ������� 6HOHVDL WHODK�PHQ\HOHVDLNDQ
SHPEXDWDQ�EXNX�SURcO
NHSHJDZDLDQ�WDKXQ�����

�����
3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

������������
0XWDVL�GDQ�3URPRVL�$61

�����������������
3HQJHORODDQ�0XWDVL�$61 5S������������ 5S����������� ��
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�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HODNVDQDDQ�0XWDVL�-DEDWDQ
3LPSLQDQ�7LQJJL��-DEDWDQ
$GPLQLVWUDVL��-DEDWDQ�3HODNVDQD
GDQ�0XWDVL�$61�DQWDU�'DHUDK

��'RNXPHQ � ������� 6HOHVDL 3URVHV�6.�3HQHPSDWDQ
0XWDVL�$QWDU�,QVWDQVL�.HOXDU
��6.

�����

3HODNVDQDDQ�WHUNHQGDOD�EDWDV
NHZHQDQJDQ

�����������������
3HQJHORODDQ�.HQDLNDQ�SDQJNDW�$61 5S������������ 5S����������� ��

�� ��������������������
-XPODK�3HQJHORODDQ�.HQDLNDQ
3DQJNDW�$61

��'RNXPHQ � ������� 6HOHVDL 6DPSDL�GHQJDQ�EXODQ
2NWREHU������WHODK
GLVHUDKNDQ�VHEDQ\DN������
6.�.HQDLNDQ�3DQJNDW
.HSDGD�316�.DEXSDWHQ
.XWDL�.DUWDQHJDUD�

�����
3HODNVDQDDQ�WHUNHQGDOD�EDWDV
NHZHQDQJDQ�3HQJDQJJDUDQ�.XUDQJ
7HUKDGDS�7DUJHW�2XWSXW

�����������������
3HQJHORODDQ�SURPRVL�$61 5S������������ 5S����������� ��

�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HQJHORODDQ�3URPRVL�$61

��'RNXPHQ � ������� 6HOHVDL ��.HQDLNDQ�-HQMDQJ�-DEDWDQ
)XQJVLRQDO�316��
3HUSLQGDKDQ�GDUL�-DEDWDQ
/DLQ�NH�'DODP�-DEDWDQ
)XQJVLRQDO���3URPRVL�NH
GDODP�-DEDWDQ�6WUXNWXUDO
316

�����

3HODNVDQDDQ�WHUNHQGDOD�EDWDV
NHZHQDQJDQ

������������
3HQJHPEDQJDQ�NRPSHWHQVL�$61

�����������������
3HQLQJNDWDQ�NDSDVLWDV�NLQHUMD�$61 5S�������������� 5S������������ ��
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�� ��������������������
-XPODK�$61�\DQJ�0HQLQJNDW
.DSDVLWDVQ\D

����2UDQJ ����� ������� 6HOHVDL ��6KDULQJ�6HVVLRQ��
3HQJKLWXQJDQ�7LQJNDW
.RPSRQHQ�'DODP�1HJHUL
�7.'1���MXPODK�3HVHUWD
VHEDQ\DN�����2UDQJ���
6KDULQJ�6HVVLRQ���3HQLODLDQ
.LQHUMD�3HQ\HGLD��MXPODK
SHVHUWD�VHEDQ\DN����
2UDQJ����6KDULQJ�6HVVLRQ��
3HUHQFDQDDQ�3HQJDGDDQ
%DUDQJ�-DVD�3HPHULQWDK�
MXPODK�SHVHUWD�VHEDQ\DN
����2UDQJ����3HODWLKDQ
3HQMHQMDQJDQ�.LQHUMD�
MXPODK�SHVHUWD�VHEDQ\DN��
2UDQJ

�����

5HQFDQD�WGN�VHVXDL�GHQJDQ�NRQGLVL
GL�ODSDQJDQ�ZDNWX�SHODNVDQDDQ
WLGDN�VHVXDL�UHQFDQD

�����������������
3HQJHORODDQ�$VVHVPHQW�&HQWHU 5S�������������� 5S������������ ��

�� ��������������������
-XPODK�'RNXPHQ�3HQJHORODDQ
$VVHVVPHQW�&HQWHU

��'RNXPHQ � ������ 6HOHVDL 3HODSRUDQ�+DVLO�$VHVPHQW
6HOHNVL�7HUEXND�3HODSRUDQ
+DVLO�$VHVPHQW�6WUXNWXUDO
(VHORQ�,9�3HODSRUDQ�+DVLO
$VHVPHQW�3HPHWDDQ
.RPSHWHQVL�GDQ�3RWHQVL
316�.DE�.XNDU

�����

5HQFDQD�WGN�VHVXDL�GHQJDQ�NRQGLVL
GL�ODSDQJDQ�3URJUHV�SHODNVDQDDQ
VHVXDL�WDUJHW�UHQFDQD

�����������������
3HQJHORODDQ�SHQGLGLNDQ�ODQMXWDQ�$61 5S�������������� 5S������������ ��
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�� ��������������������
-XPODK�$61�\DQJ�0HQGDSDWNDQ
3HQGLGLNDQ�/DQMXWDQ

����2UDQJ �� ������ 3HODNVDQDDQ ���3HQ\XVXQDQ�/DSRUDQ
3HQJHORODDQ�3HQGLGLNDQ
/DQMXWDQ�$61���
3HPED\DUDQ�%HDVLVZD
6WLPXODQ�*XUX�6'�0,
3URJUDP�'�,9�6��VHEDQ\DN
��RUDQJ����3HPED\DUDQ
%HDVLVZD�6WLPXODQ�*XUX
603�07V�3URJUDP�'�,9�6�
VHEDQ\DN���RUDQJ���
3HPED\DUDQ�%HDVLVZD
6WLPXODQ�316�3URJUDP�6�
VHEDQ\DN���RUDQJ���
3HPED\DUDQ�%HDVLVZD
6WLPXODQ�316�3URJUDP�6�
VHEDQ\DN����RUDQJ���
3HPED\DUDQ�%HDVLVZD
6WLPXODQ�316�3URJUDP�6�
VHEDQ\DN���RUDQJ

������

5HQFDQD�WGN�VHVXDL�GHQJDQ�NRQGLVL
GL�ODSDQJDQ�3HQHULPD�PDQIDDW
EHUWDPEDK�EHUNXUDQJ�SHQHULPD
PDQIDDW�WLGDN�VHVXDL�GHQJDQ�NULWHULD
YHULcNDVL

������������
3HQLODLDQ�GDQ�(YDOXDVL�.LQHUMD�$SDUDWXU

�����������������
3HQ\XVXQDQ�.HELMDNDQ�3HQLODLDQ�GDQ
(YDOXDVL�.LQHUMD�$SDUDWXU

5S������������ 5S����������� ��

�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HQ\XVXQDQ�.HELMDNDQ�3HQLODLDQ
GDQ�(YDOXDVL�.LQHUMD�$SDUDWXU

��'RNXPHQ � ������� 6HOHVDL 7HUVXVXQQ\D�5DQFDQJDQ
3HUEXS�0DQDMHPHQ�3HJDZDL
$61

�����
3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

�����������������
3HODNVDQDDQ�3HQLODLDQ�GDQ�(YDOXDVL
.LQHUMD�$SDUDWXU

5S������������ 5S����������� ��
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�� ��������������������
-XPODK�'RNXPHQ�+DVLO
3HODNVDQDDQ�3HQLODLDQ�GDQ
(YDOXDVL�.LQHUMD�$SDUDWXU

��'RNXPHQ � ������� 6HOHVDL ���7HODK�WHUNXPSXO�GDODP
EHQWXN�5HNDSLWXODVL
3HQLODLDQ�6.3�$61
.DEXSDWHQ�.XWDL
.DUWDQHJDUD�7DKXQ�����
EHUMXPODK����2UDQJ����'DWD
6.3������\DQJ�WHUNXPSXO
GDUL�%XODQ�-DQXDUL�V�G
'HVHPEHU�EHUMXPODK������
2UDQJ

�����

5HQFDQD�WGN�VHVXDL�GHQJDQ�NHOXDUDQ
\J�GLKDUDSNDQ

�����������������
(YDOXDVL�+DVLO�3HQLODLDQ�GDQ�(YDOXDVL
.LQHUMD�$SDUDWXU

5S����������� 5S����������� ��

�� ��������������������
-XPODK�'RNXPHQ�+DVLO�(YDOXDVL
+DVLO�3HQLODLDQ�GDQ�(YDOXDVL
.LQHUMD�$SDUDWXU

��/DSRUDQ � ������� 6HOHVDL ��5HNDSLWXODVL�HYDOXDVL�KDVLO
SHQLODLDQ�NLQHUMD�SHJDZDL
WDKXQ��������(YDOXDVL
.LQHUMD�3HJDZDL�3DGD
NDQWRU�&DPDW�PXDUD�NDPDQ

�����
3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

�����������������
3HQJHORODDQ�7DQGD�-DVD�%DJL�3HJDZDL 5S����������� 5S����������� ��

�� ��������������������
-XPODK�$61�\DQJ�'LEHULNDQ
7DQGD�-DVD

����2UDQJ ��� ������ 6HOHVDL 7HUELW�3LDJDP�3HQJKDUJDDQ
6DW\DOHQFDQD�'DUL
.HPHQGDJUL�����

����� 3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

�����������������
3HQJHORODDQ�SHQ\HOHVDLDQ�SHODQJJDUDQ
GLVLSOLQ�$61

5S������������ 5S����������� ��

�� ��������������������
-XPODK�/DSRUDQ�+DVLO�3HQJHORODDQ
3HQ\HOHVDLDQ�3HODQJJDUDQ
'LVLSOLQ�$61

��/DSRUDQ � ������� 6HOHVDL 'DIWDU�5HNDS�+XNGLV
3HJDZDL�1HJHUL�6LSLO�7DKXQ
����

�����
3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

�����������������
3HOD\DQDQ�3URVHV�,]LQ�3HUFHUDLDQ�3HJDZDL 5S����������� 5S����������� ��
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�� ��������������������
-XPODK�'RNXPHQ�3URVHV�,]LQ
3HUFHUDLDQ�3HJDZDL�\DQJ�'LOD\DQL

���'RNXPHQ � ������ 6HOHVDL GLDNKLU�GHVHPEHU�DNKLU
WDKXQ������VXGDK
GLODNVDQDNDQ�SURVHV�VXUDW
NHWHUDQJDQ�LMLQ�SHUFHUDLDQ
VHEDQ\DN����RUDQJ�VHVXDL
GDUL�MXPODK�SHPRKRQ

�����

3URJUHV�SHODNVDQDDQ�VHVXDL�WDUJHW
UHQFDQD

���������������3URJUDP�3HQJHPEDQJDQ�6XPEHU�'D\D�0DQXVLD
�
������������
3HQJHPEDQJDQ�NRPSHWHQVL�7HNQLV

�����������������
3HQ\HOHQJJDUDDQ�SHQJHPEDQJDQ
NRPSHWHQVL�WHNQLV�XPXP��LQWL��GDQ�SLOLKDQ
EDJL�MDEDWDQ�DGPLQLVWUDVL
SHQ\HOHQJJDUDDQ�XUXVDQ�SHPHULQWDK
NRQNXUHQ��SHUDQJNDW�GDHUDK�SHQXQMDQJ�
GDQ�XUXVDQ�SHPHULQWDKDQ�XPXP

5S�������������� 5S�������������� ��

�� ���������������������
-XPODK�$61�\DQJ�0HQJLNXWL
3HQJHPEDQJDQ�.RPSHWHQVL

����2UDQJ ��� ������ 6HOHVDL ��3HODWLKDQ�.RPSHWHQVL
3HMDEDW�3HPEXDW�.RPLWPHQ
7LSH�%��MXPODK�3HVHUWD
VHEDQ\DN����2UDQJ���
%HQFKPDUNLQJ
,PSOHPHQWDVL�&RUH�9DOXHV
%HU$.+/$.��MXPODK�3HVHUWD
VHEDQ\DN����2UDQJ���
:RUNVKRS�%XGD\D�.HUMD
&RUH�9DOXHV�%HU$.+/$.
�/HDGHU�&RPPLWPHQW��
MXPODK�3HVHUWD�VHEDQ\DN���
2UDQJ

�����

5HQFDQD�WGN�VHVXDL�GHQJDQ�NRQGLVL
GL�ODSDQJDQ�3HODNVDQDDQ�WHUNHQGDOD
EDWDV�NHZHQDQJDQ�ZDNWX
SHODNVDQDDQ�WLGDN�VHVXDL�UHQFDQD

������������
6HUWLcNDVL��NHOHPEDJDDQ��SHQJHPEDQJDQ�NRPSHWHQVL�PDQDMHULDO�GDQ�IXQJVLRQDO
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�����������������
3HODNVDQDDQ�6HUWLcNDVL�.RPSHWHQVL�GL
/LQJNXQJDQ�3HPHULQWDK�3URYLQVL�GDQ
.DEXSDWHQ�.RWD

5S������������ 5S����������� ��

�� ��������������������
-XPODK�$61�\DQJ�7HUVHUWLcNDVL
/LQJNXS�.DEXSDWHQ�.RWD

���2UDQJ � ������ 6HOHVDL ���3HPED\DUDQ�%HODQMD
$ODW�%DKDQ�XQWXN�.HJLDWDQ
.$QWRU���%DKDQ�&HWDN�SDGD
6XE�NHJLDWDQ�3HODNVDQDDQ
6HUWLcNDVL�.RPSHWHQVL�GL
/LQJNXQJDQ�3HPHULQWDK
3URYLQVL�GDQ
.DEXSDWHQ�.RWD����
/$325$1�3(1*(/2/$$1
5,6,.2�81,7�3(1*(/2/$
5,6,.2�(6(/21�,,,�%,'$1*
3(1*(0%$1*$1�680%(5
'$<$�$61�75,:8/$1�,9
7$+81�����

�����

3HQJDQJJDUDQ�.XUDQJ�7HUKDGDS
7DUJHW�2XWSXW�/RNDVL�SHODNVDQDDQ
EHUEHGD�GJ�UHQFDQD�3HODNVDQDDQ
WHUNHQGDOD�EDWDV
NHZHQDQJDQ�3HQHULPD�PDQIDDW
EHUWDPEDK�EHUNXUDQJ�ZDNWX
SHODNVDQDDQ�WLGDN�VHVXDL�UHQFDQD

�����������������
3HQ\HOHQJJDUDDQ�SHQJHPEDQJDQ
NRPSHWHQVL�EDJL�SLPSLQDQ�GDHUDK��MDEDWDQ
SLPSLQDQ�WLQJJL��MDEDWDQ�IXQJVLRQDO�
NHSHPLPSLQDQ��GDQ�SUDMDEDWDQ

5S�������������� 5S�������������� ��

�� ��������������������
-XPODK�/DSRUDQ�+DVLO
3HQ\HOHQJJDUDDQ�3HQJHPEDQJDQ
.RPSHWHQVL�EDJL�3LPSLQDQ
'DHUDK��-DEDWDQ�3LPSLQDQ�7LQJJL�
-DEDWDQ�)XQJVLRQDO�
.HSHPLPSLQDQ��GDQ�3UDMDEDWDQ

��/DSRUDQ � ������ 6HOHVDL 3HQ\XVXQDQ�/DSRUDQ
3HODNVDQDDQ�3HODWLKDQ
.HSHPLPSLQDQ�1DVLRQDO
7LQJNDW�,��3HODWLKDQ
.HSHPLPSLQDQ�3HQJDZDV
GDQ�3HODWLKDQ�)XQJVLRQDO

�����
5HQFDQD�WGN�VHVXDL�GHQJDQ�NHOXDUDQ
\J�GLKDUDSNDQ�3URJUHV�SHODNVDQDDQ
VHVXDL�WDUJHW�UHQFDQD�3HQHULPD
PDQIDDW�EHUWDPEDK�EHUNXUDQJ
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